Chapter 9

Business-Type Activities

TRUE/FALSE (CHAPTER 9)
1. In both the fund statements and the government-wide statements, business-type activities and internal service funds are on a full accrual basis, and their measurement focus is on all economic resources.

2. The operating statement required as one of the three basic financial statements for proprietary funds is called the statement of revenues, expenditures, and changes in fund net assets.

3. The amounts reported in proprietary fund statements are generally the same as those reported in the government-wide statements because both sets of statements are on a full accrual basis of accounting.

4. Governments are required to prepare a statement of cash flows for proprietary funds, but not for governmental funds.

5. GASB Statement No. 34 mandates that governments report their cash flows from operations using the indirect method.

6. The FASB mandates entities report their cash flows from operations using the direct method.

7. Governments generally do not have to get formal legislative approval for enterprise fund budgets or incorporate them into their accounting systems.

8. In accounting for closure and postclosure landfill costs in an enterprise fund, a government does not necessarily have to “fund” the costs during the landfill’s useful life; it merely has to report both an expense and a liability for them.

9. The revenues of an internal service fund are the expenditures and expenses of other funds of that government.

10. The proprietary fund operating statement includes ALL changes in net assets including capital contributions. 

MULTIPLE CHOICE (CHAPTER 9)

1. The appropriate measurement focus for the business-type activities of the City of Rockford is

a) Current financial resources.

b) Economic resources.

c) Both (a) and (b).

d) None of the above.

2. Which of the following is not a proprietary fund?

a) City Water Enterprise Fund.

b) City Motor Pool Internal Service Fund.

c) City Hall Capital Project Fund.

d) None of the above.  They are all proprietary funds.

3. The appropriate basis of accounting for the proprietary funds of a governmental entity is

a) Cash basis.

b) Modified accrual.

c) Full accrual.

d) None of the above.

4. Which of the following is a valid reason for governmental entities to engage in business-type activities?

a) The entity does not want control over the activity.

b) The activity competes with general government activities.

c) The entity does not want to subsidize the activity.

d) The entity can provide the services more cheaply or efficiently than can a private firm.

5. Which of the following is a valid argument for separate accounting principles for proprietary activities?

a) Two separate measurement focuses and bases for accounting within the same set of financial statements are confusing.

b) There are no clear-cut distinctions between business and non-business activities.

c) The measurement focus on all economic resources is more consistent with the GASB’s objectives that financial reporting should provide information to determine whether current-year revenues were sufficient to pay for current-year services.

d) Surveys of statement users indicate that information on depreciation is not of high priority to governmental decision makers.

6. Which of the following is a key reason for using business-type accounting to account for proprietary fund activities?

a) The modified accrual basis of accounting captures all the resources and obligations associated with an activity.

b) Depreciation is not recognized in business-type accounting in governments and surveys of statement users indicate that information on depreciation is not of high priority to governmental decision makers. 

c) The measurement focus on all economic resources is more consistent with the GASB’s objectives that financial reporting should provide information to determine whether current-year revenues were sufficient to pay for current-year services.

d) Business-type accounting facilitates comparisons with governmental activities.

7. Which of the following is NOT a budget typically prepared for an activity accounted for in a proprietary fund?

a) Appropriation budget.

b) Cash budget.

c) Capital budget.

d) Flexible budget.

8. A governmental entity reports its utility services provided to the citizens in a proprietary fund.  Which of the following best represents an acceptable election of accounting standards for the proprietary fund? Unless the FASB pronouncement conflicts with or contradicts a GASB pronouncement, a propriety fund must adhere to

a) All FASB pronouncements.

b) All FASB pronouncements issued prior to November 30, 1989, as well as any post-November 30, 1989 pronouncements specifically adopted by GASB.

c) It must apply only GASB standards.

d) It may elect either (a) or (b).

9. A proprietary fund of a governmental entity has donor-restricted assets on its balance sheet.  Which of the following best describes where and how those assets will generally be displayed?

a) In a separate restricted asset category on the statement of net assets.

b) Intermingled with other assets on the statement of net assets.

c) Intermingled with other assets on the statement of net assets but footnoted.

d) In a separate restricted fund.

Use the following information to answer #10 and #11.

The City of Brockton voted to establish an internal service fund to account for its printing services.  The City transferred $500,000 cash from the General Fund to the newly created internal service fund.

10. The appropriate entry in the general fund to account for this transfer would be a credit to cash for $500,000 and a debit for $500,000 to

a) Due from Internal Service Fund.

b) Transfer Out.

c) Expenditures.

d) Investment in Internal Service Fund.

11. The appropriate entry in the internal service fund is a debit to cash for $500,000 and a credit for $500,000 to

a) Due to General Fund.

b) Transfer In. 

c) Capital Contribution (Revenues).

d) Investment provided by the General Fund.

12. The City issued $2 million in general obligation bonds to acquire a fleet of vehicles for the Central Motor Pool Internal Service Fund.  At the date of issue, the appropriate entry in the Internal Service Fund is a $ 2 million debit to cash and a $2 million credit to

a) Bonds Payable.

b) Capital Contribution (Revenues).

c) Capital Contributed (Revenues) AND show $2 million as an addition to the Schedule of Changes in Long-term Obligations.

d) No entry in the proprietary fund.  Show $2 million as an addition to the Schedule of Changes in Long-term Obligations.

13. Which of the following is the best rationale/justification for reporting the business-type activities of a government in a separate fund?

a) Laws or regulations require that the activity’s costs of providing services be recovered by fees and charges rather than general purpose taxes or similar charges.

b) Separate funds facilitate budgeting, planning, and controlling.

c) Separate funds facilitate the assessment of performance of the activity.

d) Separate funds facilitate the assessment of fiscal status of the activity.

14. Which of the following are required basic statements of a Proprietary Fund?

a) Balance Sheet and Income Statement.

b) Balance Sheet; Statement of Revenues, Expenses, and Changes in Retained Earnings; and Statement of Cash Flows.

c) Statement of Net Assets and Statement of Revenues, Expenses, and Changes in Fund Net Assets.

d) Statement of Net Assets; Statement of Revenues, Expenses, and Changes in Fund Net Assets; and Statement of Cash Flows.

15. Burton County issued $6 million of revenue bonds to finance construction of additional physical plant facilities for the City Sewer System that is accounted for in an enterprise fund.  The bond agreement requires that $.5 million of the proceeds be invested in U.S. Treasury securities to be used to service the debt if revenues in a particular year are insufficient to do so.  At the time of the sale of the bonds, the County debited restricted cash and credited bonds payable.  What additional entry, if any, would be needed?

a) No additional entry would be needed at this time.

b) Restricted Net Assets $.5 million; Unrestricted Net Assets $.5 million.

c) Debit Unrestricted Net Assets $.5 millions; Credit Restricted Net Assets $.5 million.

d) Debit Unrestricted Retained Earnings $.5 million; Credit Restricted Retained Earnings $.5 million.

16. Franklin County operates a solid waste landfill that is accounted for in an enterprise fund.  The County calculated this year’s portion of the total closure and postclosure costs associated with the landfill to be $300,000.  The entry(ies) to record this cost should be

a) Debit Landfill Expense $300,000; Credit Liability for Landfill Costs $300,000

b) Debit Landfill Expense $300,000; Credit Liability for Landfill Costs  $300,000 AND 

Include an addition of $300,000 on the Schedule of Changes in Long-term Obligations.

c) Show only an addition of $300,000 on the Schedule of Changes in Long-term Obligations.

d) No entry in any fund; No entry in the Schedule of Changes in Long-term Liabilities.

17. Marsh Lake County operates a solid waste landfill that is accounted for in a governmental fund.  The County calculated this year’s portion of the total closure and postclosure costs associated with the landfill to be $600,000.  The entry to record this cost should be

a) Debit Landfill Expenditure $600,000; Credit Liability for Landfill Costs $600,000  

b) Debit Landfill Expenditure $600,000; Credit Liability for Landfill Costs $600,000 AND 

Include $600,000 as an addition on the Schedule of Changes in Long-Term Obligations.

c) No entry in the fund; include $600,000 on the Schedule of Changes in Long-Term Obligations.

d) No entry in any fund or Schedule.

18. During the current year, the Wilson County Landfill Enterprise Fund installed wells designed to assist in the ground water monitoring process after closure for their solid waste landfill.  The landfill has reached 40% of its capacity and is expected to continue to accept waste until 2012.  The costs of the wells were $80,000.  The appropriate entry to record this event is a credit to cash for $80,000 and an $80,000 debit to

a) Fixed assets.

b) Landfill expenses.

c) Liability for landfill costs.

d) Deferred expenses.

19. Over the long run, governmental internal service funds are intended to

a) Generate revenues sufficient to cover the full costs of providing services.

b) Generate revenues sufficient to cover the full costs of providing services and to earn a profit.

c) Generate revenues sufficient to cover the current operating costs of providing services.

d) Generate revenues sufficient to cover the current operating costs of providing services and to earn an operating profit.

20. Which of the following is NOT true about internal service funds as reported in the fund financial statements?

a) Costs reported by internal service funds are reported twice within the same set of financial statements.

b) Billing rates must be set to cover the full cost of providing the goods or services.

c) Depreciation can be charged to governmental funds through the billing rates established by the internal service fund.

d) Deficits or surpluses in the general fund can be transferred to the internal service fund by adjusting the billing rates.

21. In the Statement of Net Assets, the net assets of a proprietary fund should be displayed in which of the following categories? 

a) Unrestricted Fund Balance; Restricted Fund Balance, Invested in Capital Assets, Net of Related Debt.

b) Unrestricted Net Assets; Restricted Net Assets; Invested in Capital Assets, Net of Related Debt.

c) Unrestricted Net Assets; Restricted Net Assets; Net Assets Available for Use.

d) Net Assets Available for Use.

22. A Statement of Revenues, Expenses, and Changes in Fund Net Assets should include which of the following in addition to operating revenues and operating expenses and ending Net Assets

a) Nonoperating revenues and expenses.

b) Nonoperating revenues and expenses, and Other Changes in Net Assets.

c) Nonoperating revenues and expenses, Capital Contributions and Other Changes in Net Assets, Beginning Net Assets.

d) None of the above.

23. In which of the following circumstances must an enterprise fund be used to account for the activity?
a) A newly created electric utility fund will finance its operations by a charge to users based on kilowatt hours used.

b) To finance the acquisition of plant facilities, a newly created electric utility issues general obligation debt.

c) To finance the acquisition of plant facilities, a newly created electric utility issues revenue bonds that will be repaid solely from operations of the electric utility.

d) To acquire needed plant facilities, a newly created electric utility enters into long-term lease agreements.

24. Washington County has designated the General Fund as the single fund to account for its self-insurance activities.  What is the maximum amount that can be charged to expenditure in the General Fund related to the self-insurance activities?

a) The amount of “premium” charged to the other funds.

b) The amount of actual claims expenditures.

c) The actuarially determined amount necessary to cover claims, expenditures, and catastrophic losses.

d) The amount transferred from other funds and activities to the general fund for self-insurance purposes.

25. Lehi City has designated an internal service fund as the single fund to account for its self-insurance activities.  Most of the insured activities such as the police department, fire department, and general government functions are accounted for in the General Fund.  What is the maximum amount that can be charged to expenditure in the General Fund related to the self-insurance activities?

a) The amount of “premium” charged to the General Fund by the internal service fund.

b) The amount of actual losses incurred by the insurance activity.

c) The actuarially determined amount necessary to cover claims, expenditures, and catastrophic losses.

d) The amount transferred from the General Fund to the internal service fund for self-insurance purposes.

26. A governmental entity operates landfill.  In the Landfill Enterprise Fund financial statements, which of the following would be reported as a restricted asset?

a) Cash received from the sale of bonds that must, based on the debt covenant, be spent only on building a new landfill runoff treatment plant.

b) Cash that management has voted to use only for landfill expansion. 

c) Cash received from the General Fund that will be used only to expand the landfill. 

d) None of the above.

Use the following information to answer questions #27 and #28.

During the year the City’s Self-Insurance Internal Service Fund billed the General Fund $300,000 for “premiums,” of which $30,000 was for catastrophic losses and the balance was the premium computed on an actuarially determined basis.  During the year the City incurred $250,000 in claims losses. The total amount transferred to the Self-Insurance Fund by the General Fund was $310,000. 

27. The amount the City Self-Insurance Fund can recognize as revenue is

a) $310,000

b) $300,000.

c) $270,000.

d) $250,000.

28. The amount the City General Fund can recognize as an expenditure is

a) $310,000.

b) $300,000.

c) $270,000.

d) $250,000.

29. When a governmental enterprise fund has restricted assets on its balance sheet, which of the following is a true statement?

a) The total of the restricted assets in the asset section will be equal to the “Restricted Net Assets” amount in the equity section.

b) The total of the restricted assets will be offset by a liability of an equal amount.

c) The total of the restricted assets less related liabilities will be equal to the “Restricted Net Assets” amount in the equity section.

d) None of the above statements is true.

30. Any internal service fund balances that are not eliminated in the consolidation process should generally be presented on the government-wide financial statements

a) In the business-type activities column.

b) In the internal service fund column.

c) In the governmental activities column.

d) These balances should not be presented on the government-wide financial statements.

31. On the fund financial statements, internal service activities should be presented  

a) In the Propriety Fund statements, net of interfund eliminations.

b) In the Governmental Fund statements, net of interfund eliminations.

c) In the Proprietary fund statements, without any interfund eliminations.

d) In the Governmental Fund statements, without any interfund eliminations.

32. Cash flows from Investing Activities include which of the following as cash inflows

a) Cash collection of receivable for sale of services.

b) Grants for operating activities.

c) Interest and dividends received.

d) Purchases of investments.

33. Cash flows from Capital and Related Financing Activities include which of the following as cash outflows

a) Grants to other governments for operating activities. 

b) Grants to other governments for capital asset acquisitions.

c) Payments for services performed by other funds.

d) Purchases of capital assets.

34. Cash flows from Operating Activities include which of the following as inflows

a) Proceeds from short-term borrowing to finance operations.

b) Receipts from property taxes levied to support operations of the activity.

c) Grants from other governments to finance an operating deficit.

d) Any cash receipt that does not meet the definition of investing, capital and related financing, or noncapital financing activities. 

35. Cash flows from Investing Activities include which of the following as outflows

a) Repayments of short-term borrowing to finance operations.

b) Interest received on investments.

c) Cash transfers to other funds.

d) Purchase of short-term investments.

36. Cash flows from Capital and Related Financing Activities include which of the following as inflows

a) Repayment of bonds issued to construct a new city hall building.

b) Interest received on investments.

c) Grant from the state to subsidize the mass transit system.

d) Receipts from the sale of an old backhoe that had been used in general government activities.

37. Cash flows from Investing Activities do NOT include which of the following as inflows

a) Receipts from the sale of marketable securities.

b) Interest received on bonds held as short-term investments.

c) Interest received on bonds held as long-term investments.

d) Transfers to other funds.

38. Cash flows from Noncapital Financing Activities include which of the following as outflows

a) Repayment of bonds issued to finance construction of City Hall.

b) Deposits into investment pools.

c) Loans to another fund of the entity.

d) Grants made to other governments to support operating activities. 

39. Which of the following entities is required to use the direct method to report its cash flows?

a) City of Gaston Utility Fund.

b) United Way.

c) General Motors.

d) Oak Grove Water Users Association.

40.
Which of the following factors are considered by rating agencies when considering revenue bond debt?

a) Tax base.

b) Assessed valuation of property in jurisdiction.

c) History of rates and rate increases.

d) Demographics.

41.  The reporting of activities by an Enterprise Fund is most likely optional if:

a) Fees are charged to external users for goods or services.

b) The entity’s pricing policies set fees and charges to recover costs.

c) The entity is financed with debt, and the only security is a pledge of the activity’s 
net revenues from fees and charges.

d) The entity’s costs are legally required to be recovered from fees and charges.

42.  The Financial Statements of a Proprietary fund are prepared using the 
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43.  The following transactions were among those reported by Madison City’s water utility enterprise fund for the current year:

Proceeds from sales of revenue bonds


$3,900,000

Cash received from customer households

$1,600,000

Capital Contributed by subdivisions


   $700,000

In the water utility enterprise fund’s statement of cash flows for the current year, what amount should be reported as cash flows from capital and related financing activities?

a) $3,900,000

b) $6,200,000

c) $5,500,000

d) $4,600,000
PROBLEMS (CHAPTER 9)

1.  Benton County voted to establish an internal service fund to account for printing and copying for all its departments and agencies.  The County engaged in the following activities related to the new fund.  REQUIRED: Prepare transactions to record these events in the internal service fund.  If no entry is required, write “No Entry Required.” 

a) The County Commission voted to transfer $200,000 from the General Fund to the internal service fund to establish the new fund.

b) The fund entered into a capital lease for equipment to be used in printing activities.  The total present value of the lease obligation is $600,000.  

c) Issued $1 million in general obligation bonds at 101.  The bonds were issued to acquire additional equipment.  The bonds are to be serviced from the internal service fund.

d) Purchased equipment at a cost of $980,000.  The equipment has an estimated useful life of nine years and an estimated salvage value of $80,000.

e) Billed the General Fund for copying and printing charges, $70,000.

f) Paid salaries to printing employees, $50,000.

2. The City of Petersburg has operated a City Utility Enterprise Fund for a number of years.  The fund accounts for the activities of the City-owned electric, water and sewer systems.  During the current year, the City engaged in the following transactions related to the City Utility Fund.  REQUIRED: Prepare the appropriate journal entries.  If none is required, write “No Entry Required.”

a) The City billed its customers $1 million for services provided during the year.

b) The City received $260,000 from a developer to connect new houses to the existing utility lines.  

c) Depreciation on existing physical plant was $700,000.

d) Revenue bonds in the amount of $2 million were issued at par to finance new construction.  The bond agreement requires that the City retain $200,000 of the bond proceeds for purposes of servicing the debt if revenues are not sufficient to do so.

3. The City of San Dominguez received a $500,000 federal grant to acquire several buses to be used in its public transit system.  The City paid $400,000 to acquire several buses.  At year-end, $100,000 of the grant had not yet been used.  During the year total depreciation on the buses was $40,000. Revenues for the public system were $600,000; operating expenses (other than depreciation) were $470,000.  REQUIRED: Assuming the Public Transit Enterprise Fund began the year with unrestricted net assets of $420,000, prepare the following for the Public Transit Enterprise Fund.

a) Statement of Revenues, Expenses, and Changes in Fund Net Assets. 

b) Net Assets section of the Statement of Net Assets.

4. Greene County operates a solid waste landfill that is accounted for as an enterprise fund.  At the end of 2005, the Landfill Enterprise Fund had a Liability for landfill closure care costs of $50,000.  The County estimated the total costs associated with closing and monitoring the landfill as listed below.  REQUIRED: (a) Calculate the estimated total current cost of postclosure care as of year-ends 2006 and 2007. (b) Calculate current period expenses for year-ends 2006 and 2007.  (b) Prepare the required journal entries at year-ends 2006 and 2007 to recognize the current period expenses.  Be sure to show all of your work.

2006

2007
Costs

  Equipment to be installed

$2.5 million
$3.0 million
  Final cover


$  .5 million
$1.0 million

  Monitoring and maintaining
$4.0 million
$4.0 million

Capacity used in total

30,000

58,000

Estimated total capacity

600,000

580,000 

5. Johnson City opened a landfill that it elects to account for in an enterprise fund.  

· At the time the landfill was opened the government estimated total capacity of the landfill to be 5 million cubic feet, useful life to be 20 years, and total closure and postclosure costs to be $15 million.  

· At the end of Year 1, the government reestimated total closure costs to be $15.2 million and estimated capacity to be same as the original estimate.  

· At the end of Year 2, the government reestimated total capacity to be 4.8 million cubic feet and total closure costs to be $15.4 million.  

· At the end of Year 3, the government reestimated useful life to be 17 years but capacity remained unchanged from the preceding year and closure and postclosure costs were estimated to be $15.3 million.  

REQUIRED:  Prepare entries in the enterprise fund to record the following events

a) During Year 1, the city estimates 300,000 cubic feet of capacity were used.  Record the landfill expense.

b) During Year 2, the city estimates that an additional 350,000 cubic feet of capacity were used.  Record the landfill expense.

c) During Year 3 the City installed equipment at a cost of $130,000.  The equipment will be used in monitoring the landfill when it is closed.

d) During Year 3 the city estimates that an additional 400,000 cubic feet of capacity were used.  Record the landfill expense.  

6. When insurance premiums went through the roof, Hat City decided to “self insure.” It established an internal service fund (ISF), setting aside resources of potential claims in that new fund.  During the year, the following transactions were recorded in the ISF:

· The ISF recognized $1.5 million in claims expense/liabilities based on GASB Statement 10 and paid $1.3 million of those claims.

· Based on an actuarial calculation, the ISF billed the other funds of the City for $2.0 million.  Of this, $1.2 million was billed to the City’s general fund and $0.8 million was billed to the City’s water and sewer enterprise fund.  The actuarial valuation included a reasonable provision for future catastrophe losses of $0.3 million.

REQUIRED:

a) Prepare journal entries to record these transactions in the City’s self-insurance ISF. 

b) Suppose, instead, that the City reported its self-insurance activities in its general fund.  Prepare journal entries to record these transactions in the City’s general fund.  Assume any excess was allocated ratably (proportionately) between the general fund and the water and sewer fund. 

7. The following list of cash flows was taken from the Clark City airport fund’s statement of cash flows. All amounts are in thousands.

	Cash on hand, beginning of year
	$    122

	Operating lease receipts
	2,350

	Interest received from investments
	25

	Wages and salaries paid
	815

	Purchases of supplies
	1,025

	Collections (for services) from other funds of the City
	290

	Interest paid on long-term capital debt
	175

	Purchases of capital assets
	1,625

	Proceeds of revenue bonds to acquire capital assets
	1,200

	Purchases of investments
	725

	Proceeds from sale of capital assets
	55

	Proceeds from sales of investments
	830

	Capital lease payments
	100

	Operating grants received
	500

	Proceeds from line of credit (used for operations)
	325

	Capital contribution from airline
	75

	Interest paid on line of credit
	5


REQUIRED:  Put these cash flow amounts in the form of a cash flows statement for the airport.  Calculate and include a line for cash on hand at the end of the period. 

ESSAYS (CHAPTER 9)

1. Internal service funds are used by many governmental entities to account for activities that provide services to the entity itself.  What are the ramifications of such an accounting arrangement?  What are the effects on the entity’s financial statements?

2. Governmental entities may elect to account for their landfill activities in either a governmental or enterprise fund.  Explain the differences that would result if one government elected to account for its landfill activities in its general fund and another government elected to account for its landfill activities in an enterprise fund.

3. Because of the rising cost of commercial insurance, many governments have elected to be “self-insured.”  Explain what being “self-insured” means.  Explain the difference in the accounting for self-insurance activities between a governmental fund and a proprietary fund.

4. An electric utility reports both restricted assets and restricted net assets, but the amounts are different from each other.  What could account for this difference?

5. What are the differences between a cash flows statement prepared for a governmental electric utility versus one prepared for an investor-owned utility?

6. How the activities of an internal service fund are usually reported in the government-wide financial statements?

7.
A city’s comptroller is distraught because depreciation cannot be recorded in a general fund.  Moreover, for political reasons the city council never permits the general fund to have a substantial surplus balance.  As a consequence the city is unable to “save” resources to replace aging fixed assets.  The comptroller has heard that it is possible indirectly to charge depreciation in a general fund by transferring fixed assets to an internal service fund and correspondingly to build up a cash reserve to replace the fixed assets.  Is the comptroller correct?  If so, explain how an internal service fund can be used to charge deprecation in the general fund and thereby create a cash reserve of what would otherwise be general fund assets.  

ANSWERS TO TRUE/FALSE (CHAPTER 9)
1.    True

2.    False

3.    True

4.    True

5.    False

6.    False

7.    True

8.    True

9.    True

10.  True

ANSWERS TO MULTIPLE CHOICE (CHAPTER 9)

1. B

2. C

3. C

4. D

5. C

6. C

7. A

8. D

9. A

10. B

11. B

12. A

13. A

14. D

15. A

16. A

17. C

18. C

19. A

20. B

21. B

22. C

23. C

24. B

25. C

26. A

27. B

28. B

29. C

30. C

31. C

32. C

33. D

34. D

35. D

36. D

37. D

38. C

39. A
40. C

41. A

42. D

43. D

ANSWERS TO PROBLEMS (CHAPTER 9)

Problem 1

a) Cash



$200,000

  
Transfer In




$200,000

b)   Equipment



$600,000


Lease Obligations



$600,000

c)   Cash



$1,010,000


Deferred Bond Premium


      10,000


Bonds Payable




$1,000,000

d)  Equipment



$980,000


Cash





$980,000

e)  Due from General Fund

$70,000


Revenues [or Billings]



$70,000

f)   Salary Expense


$50,000


Cash





$50,000

Problem 2

a)   Accounts receivable


$1 million


Revenue




$1 million

b)   Cash



$260,000


Capital contributions (revenues)


$260,000

c)   Depreciation expense

$700,000


Accumulated depreciation


$700,000

d)   Un-Restricted cash


$1,800,000

      Restricted cash


 $  200,000


Bonds payable




$2,000,000

Problem 3


Statement of Revenues, Expenses, and Changes in Fund Net Assets


Operating Revenues



$  600,000


Operating Expenses

$470,000



Depreciation Expense

$  40,000
$  510,000


Income before contributions


$    90,000


Capital Contributions



    500,000


Change in Net Assets



$  590,000


Net Assets, Beginning of Year


$  420,000


Net Assets, End of Year



$1,010,000


Net Assets Section of the Statement of Net Assets


Invested in capital assets, net


    of related debt

$  360,000  ($400,000 – $40,000)


Restricted


    100,000


Unrestricted


    550,000

Total net assets


$1,010,000

Problem 4

(a)
Estimated Total Current Cost of Closure and Postclosure Care

For 2006:




For 2007:

Equipment
$2.5 million


$3.0 million


Final cover
    .5 million


  1.0 million


Monitoring
  4.0 million


  4.0 million
   Total

$7.0 million


$8.0 million

(b)
Current Period Expense

For 2006:

$  30,000  x $7 million  =  $350,000 less $50,000 previously recognized = $300,000.

$600,000

For 2007:

$  58,000  x $8 million  =  $800,000 less $350,000 previously recognized = $450,000.

$580,000

(c)
Journal Entries

2006

  Landfill closure expense


$300,000


Liability for landfill closure costs


$300,000

2007

   Landfill closure expense


$450,000


Liability for landfill closure costs


$450,000

Problem 5

a)  Landfill closure expense


$912,000


Liability for landfill closure costs


$912,000

(300,000/5,000,0000) x $15.2 million 

b)  Landfill closure expense


$1,173,417


Liability for landfill closure costs




$1,173,417

(650,000/4,800.0000) x $15.4 million less amounts previously recognized ($912,000)

c)  Liability for landfill closure costs



$130,000


Cash






$130,000

d)  Landfill closure expense


$1,261,458


Liability for landfill closure costs




$1,261,458

(1,050,000/4,800,000) x $15.3 million less amounts previously recognized ($912,000 + $1,173,417) 

Problem 6

a)
Entries in ISF

Expense—claims
$1.5


Cash

$1.3


Claims liability

 0.2


To record losses incurred and claims paid


Cash
$2.0


Revenues—insurance premiums

$2.0


To record premium revenue
b)
Entries in General Fund

Expenditure—claims
$1.5


Cash

$1.3


Claims liability

 0.2


To record losses incurred and claims paid


Cash
$0.8


Interfund reimbursements—insurance premiums

$0.6


Other financing source—transfer from water 


  and sewer fund

 0.2


To record premium revenue and a transfer-in from water and sewer fund
Problem 7

	Clark City Airport

	Statement of Cash Flows

	
	

	Cash flows from operating activities:
	

	     Operating lease receipts
	$  2,350

	     Operating grants received
	500

	     Charges to other funds of the City
	290

	     Wages and salaries paid to employees
	(815)

	     Purchases of supplies
	  (1,025)

	  Total cash flows from operating activities
	1,300

	
	

	Cash flows from capital financing activities
	

	     Capital contributions
	$     75

	     Sale of capital asset
	55

	     Capital debt proceeds
	1,200

	     Capital lease payments
	(100)

	     Purchase of capital assets
	(1,625)

	     Interest paid on long-term capital debt
	    (175)

	  Total cash flows from capital financing activities
	(570)

	
	

	Cash flows from noncapital financing activities
	

	     Proceeds from line of credit
	$  325

	     Interest paid on line of credit
	      (5)

	  Total cash flows from noncapital financing activities
	320

	
	

	Cash flows from investing activities
	

	     Proceeds from sale of investments
	$  830

	     Interest received from investments
	25

	     Purchases of investments
	   (725)

	  Total cash flows from investing activities
	130

	Total increase (decrease) in cash flows
	  $ 1,180

	
	

	Cash on hand, beginning of year
	$122

	Cash on hand, end of year
	  $1,302

	
	


ANSWERS TO ESSAYS (CHAPTER 9)

1. Governments commonly use internal service funds (ISF) as cost centers.  They permit a government to accumulate all costs (including depreciation) of providing a specific service to other activities or functions of the government.  Use of the ISF in external financial reporting overstates the expenditure/expense of the combined entity by the amount of billings to the various departments.  The costs of providing the services are accumulated in the ISF.  When the ISF bills the departments, the amounts billed are reported as expenditures/expenses in the various funds.  Because there are no eliminations in the fund financial statements, the costs of providing service are counted twice.  Duplications are removed in the government-wide financial statements.

Governments that wish to include a depreciation charge in a governmental fund can do so by accounting for an activity in an ISF, billing the governmental fund an amount that reimburses the ISF for all costs, including depreciation.  

The billing rates used by an ISF are supposed to cover costs.  Management of the government has the power to set the rates and can set them at any amount they choose.  The billings are arbitrary and may make the fund financial statements less than objective.

If the general fund is prohibited from operating at a deficit and it accounts for an activity that can be transferred to an internal service fund, management could hide any deficit by transferring that activity to an ISF.  That is, management could set an ISF billing rate arbitrarily low and avoid displaying the deficit in the general fund.  

2. Landfill expenditures/expenses that may appear on the operating statement depend on the measurement focus and basis of accounting used by the fund.  If the landfill were accounted for as an enterprise fund, the entire amount of landfill expense and resulting liability for closure and postclosure care (based on capacity used to date, as required by GASB standards) would appear on the fund operating statement and balance sheet.  If the landfill were accounted for in the general fund, only the portion (expenditure) that is due and payable with available financial resources will appear on the operating statement (modified accrual basis).  The full accrual basis liability will appear only in the governmental activities column in the government-wide statement of net assets and in the Schedule of Long-Term Debt. 

3. Being self-insured means being without insurance.  The concept of insurance is spreading the risk among a number of entities or individuals.  Some governmental entities are sufficiently large to be able to spread the risk among their various funds and activities.  By simply providing a mechanism for setting aside an amount each year (probably comparable to the total premiums that would have been paid to a commercial insurance company), they can enjoy the benefits of insurance and save the ‘profits’ that would have been part of a billing from a commercial insurance carrier.

GASB allows the “premiums” transferred from the paying funds to the self-insurance internal service fund to be treated as expenses/expenditures on the paying funds’ financial statements (within certain parameters) and as revenues by the receiving fund.  The “premiums” billed can be based on actuarial amounts rather than current period actual amounts and can include an amount for future catastrophic losses.  

If the self-insurance fund is the general fund, the amount that can be charged to other funds of the entity is limited to the amount that will be recognized in the general fund as an expenditure using the modified accrual basis of accounting.  Amounts billed are not reported as revenues in the general fund but as reductions of claims expenditures.  Any amounts billed by the general fund in excess of actual expenditures must be reported as transfers between the funds.  

4.
The difference between reported restricted assets and reported restricted net assets usually arises when restricted cash and investments include unspent proceeds of long-term debt.  These restricted assets would be offset by bonds payable, resulting in a zero net asset balance. Particularly for utilities, a difference may also arise from reporting cash and investments arising from customer deposits, which are offset by deposit liabilities payable to the customer. 

5.
First, the statement of cash flows for a governmental enterprise must be prepared using the direct method. Governments, unlike businesses, cannot use the indirect method. Second, the statement of cash flows must classify transactions into four categories rather than the three required of businesses. These are:

· Cash flows from operating activities,

· Cash flows from noncapital financing activities,

· Cash flows from capital and related financing activities, and

· Cash flows from investing activities.

Finally, interest receipts are reported as investing cash flows while interest payments are reported as either cash flows from noncapital financing or capital financing.  Neither are reported as operating cash flows, unlike the FASBS 95 requirements for businesses.  

6.
Unless an internal service fund provides services primarily to a government’s enterprise fund activities, the residual net assets of an internal service fund would be included in the governmental activities column of the government-wide statement of net assets.  Residual means all assets and liabilities remaining after elimination of internal balances.  In the government-wide statement of activities, the net income (loss) of internal service funds is allocated back to the activities that participated in the ISF.  In this way, individual revenues and expenses of ISFs arising from internal activity are excluded from the program expense, program revenues, and general revenues columns of the statement of activities.  

7.
The city can establish an internal service fund (ISF) and then incorporate depreciation on the assets in the rates that the ISF bills the general fund.  The difference between the ISF’s cash received and the total reported expenses (including the noncash expense for depreciation) can then be retained in the ISF.
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